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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-7_0
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P3-7
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P3-7
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75 -
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5é0 5é5
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2 4
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m=970,n FV0=0

0_

—0— ME
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m=585,n FV0=0

970

-o— MW
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38.
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37.

40.
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39.
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m=635, FV0=0

—— MW
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0 -
T T T
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m=815,m FV0=0

—— MW
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5

0 -

5 -
T T T
815 820 825

m=680, FV0=0

38. 75 A

38. 50

38. 25 A

38. 00 A
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—— MW

T
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6é5 GéO
m=865,n FV0=0

40.5 -

40.0

39.5 A

39.0 A

—o— MW

T
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T
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m=720, FV0=0

39.5 -

39.0 A
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—— MW
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T T
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m=915,m FV0=0

41.00 ~
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40. 90 ~

40. 85 ~

40. 80 ~

—— MW
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T T
924 926
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T
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765 750 755
m=970,m FV0=0
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P3-7

BfiE) | GEBATK (RY) | EHRE (EA/K) | ERERE (B/R) | XS R

07:40 273 150. 0 2.583 E BRi&e07:40 Bzl (GRAERSE)
08:25 273 150.0 2.583 5| {Ri%e08:25 Bz (FAAMERSE)
09:30 273 150.0 2.583 = {RRi8009:30 B (RFAEEE)
10:20 273 150.0 2.583 =l RRiB010:20 Bz (REAEEE)
11:20 273 150. 0 2.583 =l RiB011:20 B3 (REAEESE)
12:20 273 150.0 2.583 =l {Rige12:20 B3 (RAERSE)
13:00 273 150.0 2.583 (Z=| {Ri%@13:00 Bz (RAERSE)
13:35 273 150.0 2.583 |Z=| {Ri&e13:35 Bz (REAEZERE)
14:15 273 150.0 2.583 (Z=| 1Ri&e14:15 Bzh (RAERSE)
14:55 273 150.0 2.583 (£ =| {Ri%e14:55 Bz (REAERSE)
15:45 273 150. 0 2.583 |Z=| Rige15:45 Bz (GRAEREE)
16:45 273 150.0 2.583 (Z=| 1Ri%e16:45 Bz (RAEHSE)
24t 3276.0 (12)%) 1800. 0 32 KEC: 2080.0, PH: 6.0

R GERRETC (600) 57EA (278. 0) 1N, Al REH T % AREERS %2 X ER
2RI\ L PRIERE324. 0 ml.
#[EKECE (1907.0 vs 3460.0) 5



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-7_0, Day=65 (2025-06-02)

T e g g e S S B Sy

VI, VO, FRV, ET - VI, V0, FVI, FVO, FRV, ad jFRV, ET 1931 L 2000
613 —~
100 1300 2671 1500 -
J0a L 1000 S
50 1590 1 =
- 500 -

20 Warning: lcol [FVI',| "FVO’'] missing 0
0 -0
(v —— ME P30.0
400
FRV maxM 97 5

200 A

1.0

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPHO0=6. 5, setPHB=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing

]
Bylnit @D67 01:54: ET=1270 Fg=1500.0 Ro=211.0

200 A - 2000

100 A - 1000

cumET (ml/plant)

0 [ 1 2 | 3 [ a5 6] 789 JwoJit[12]@[14]15[16][17[18]19[20]21]2723
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/\./Il/r e e; & o o o
100 - - 1000

0 - P l 1
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

M 225|220 (25|25 | B [ | iE | B | B | B [ZF|(Z3T|2(Z-|(25| B [B (2| B [ B | B

I
ByWon:@D67 01:54: ET=1467 Fg=1800.0 Ro=384.0

cumET (ml/plant)

200 A - 2000

100 A - 1000

cumET (ml/plant)

1.0 A

0sl B |B=|52 2718227 57| & | % | & | % | % | % 5222|5752 |5| % | % 5= & | @ | &
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T T T T T T T T T T T T T
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-50 7 —e— ME |2375- —o— ME —o— M | 2957 - ME
23.5 -
25 23.50 1
23.0 -
- 00 1 23,25 -
23.0 -
75 1 23.00 -
22,5 -
-50 7 22.75 -
22.5 -
-257 22.50 22 0 4
’ 00 L T T T 22 25 - T T T T T T T T T
720 725 730 780 785 790 840 845 850 905 910 915
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20. 60 - 23.01
- ME : - ME - ME MW
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23.0 A 20. 55 -
22.0 -
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20. 40 - 33 -
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m=520,m FV0=0 m=555,m FV0=0 m=660,m FV0=0 m=720,m FVO=0
8.0 —@— MW 39. 00 —— MW —— MW —— MW
38. 75 - 37.5 A 37.5 -
37.57 38. 50 -
2. 25 37.0 A 37.0 A
37.0 A
38.00 -
36. 5 - 36. 5 -
56,5 37.75 1
520 525 530 555 560 565 660 665 670 720 725 730



38. 0 -

37.5 -
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34.2 4
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—o— MW
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34 -
T T T
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75 1

50 A

25 -
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75 -

50 A
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m=960, FV0=0
—— MW
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P3-7

BfiE) | GEBATK (7)) | ERE (BEH/f) | ERERE (B/R) | XS e

09:35 273 150. 0 2.583 |Z=&| 1BRi&e09:35 Bz (RAERE)
10:35 273 150.0 2.583 |Z=| {Ri&e10:35 Bz (REERSE)
11:35 273 150.0 2.583 FA| {Ri%@11:35 Bz (GRAERE)
12:35 273 150.0 2.583 FA| 1BRi%@12:35 Bzh (RAIERSE)
14:25 273 150.0 2.583 FA| {Ri%@14:25 Bzl (GGRAEEE)
2it]1365.0 (5%) 750.0 32 KEC: 2080.0, PH: 6.0

##[EKECE (2007.0 vs 3837.0)d5




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-7_0, Day=64 (2025-06-01)

LR S e et
VI, VB*2RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET L 1500
1200

100 A - 1000

706 704.630
50 - 40 - 500

FRV (ml d-1)

Warning: lcol [FVI',| "FVO’'] missing

200 4 == i — ME -$30
150
100

50 A

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPHO0=6. 5, setPHB=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing

1
Bylnit!@D67 01:55: ET=1266 Fg=1500.0 Ro=327.0 2000

300 - - 1500

200 - - 1000

cumET (ml/plant)
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! E
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w z
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1 E
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p o Jp e & ©
1.0 — e ey ) — I L 0
0 1 2 3 7
0 g PF| W | B [Xm|[Im
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0.0
600 — | t
[ ] | _obs
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60 - [ ] RH_ObS
(] RHo_obs
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22.0 -
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m=870,n FV0=0

T
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m=750,n FV0=0

T
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41.0
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m=520, FV0=0
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T
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T
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P3-7

BYiE) | GEBIATK () | EHME (EA/H) | BEBRERE (B/R) | XK R

05:55 278 150.0 2.583 FH| 1BRi&@05:55 B3zl (RAEREEE)
06:55 278 150.0 2.583 FA| 1Bzi%@06:55 B3h (KBRS
08:05 278 150.0 2.583 FA| 1BRi%@08:05 B3h (FKA{EREEE)
09:25 278 150.0 2.583 FA| {Ri%@09:25 Bz (RAIEREE)
10:45 278 150.0 2.583 FA| 1Ri%e10:45 B (REERER)
12:20 278 150.0 2.583 FA| {Ri%@12:20 Bz (GRAEEE)
15:05 278 150.0 2.583 [/\ii| {Rig@15:05 Bz (RAEDSE)
23t|1946.0 (70%) 1050. 0 3EHKEC: 2080.0, PH: 6.0

HERRHEME S TEAERTS (179.0 : 147.0), AIgEMAF—RE XAH45
BRI\ SEPRIERL147.0 ml.
#[EKECE (2087.0 vs 4097.0) 5



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-7_0, Day=63 (2025-05-31)

LR S e e it T TP PP Y
V1, V%RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET L 2000

1600 ~
100 1432 L 1500 4
182 1200 176

osf 1000 ~
50 1 40
40 L 500

Warning: lcol [FVI',| "FVO’'] missing

200 A
150 -
100 -

50 A

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPHO0=6. 5, setPHB=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing

]
Bylnit:@D67 01:55: ET=1350 Fg=1650.0 Ro=356.0
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- 500 S
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m=500, FV0=0

—o— ME
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m=695,n FV0=0

—o— ME
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m=465,n FV0=0

M_W
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m=635,n FV0=0
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43. 25 A
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